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n(K*)=n(Br)=CV,=1,08.10"x100.10" =1,08.10™* mol.I""

n(Na*)=n(I") = C,V, =9,51.10% x200.10" =1,90.10~ mol.l"
s ladsdl (9 oleVl S s 1.2

1 a1 GV o ) )
[K ]_[Br ]_—Vliflfz =3,60.10" mol.l™" =3,60.10" mol.m™

[Na*] = [1] = % =6,34.10" moll™" = 6,34.10"" mol.m™
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- ol Jglxall duhogo 1.3
o= /1K+ [K+]+/13r, [Br‘}+/1Na+ [Na+]+/1[, [1_]

o =(A. + A, )| K" |+(A,,. +4,.)[ Na* ]

o =(73,5+78,1)x10"*x3,60.10™" +(50,1+76,3)x107* x6,34.10”"
o=1,34.10" Sm™

: sl S odslxall ddogo

o, =C(A, +4) o =2 [ K |+, [Br |=0,=C(A.+4,)
0, =9,51.10"x10°x(50,1.10* +76,3.10%) &, =1,08.10" x10°x(73,5.10* +78,1.107*)
o, =1,20.107 Sm™" 0,=1,62.107 Sm™'

F oligVl o JSJ digl dgall clbogally Vo Vi Cy,Cr dlVay 0 i .
o= K" (4. + A4, )+[Na" (4. +4,)
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oc=—"1(A_ +14 )+——2A .+
I/1+I/2(K Br) I/1+I/2(Na [)
o, =C(4,. +4,) o, =C(A.+4, ) 2Jlsull o .
0 J aslull @Ml o kit
T U E R
n+v, = "+h, N+,
DSdae Gulas .
o'= 1 (50x1,62.107 +300x1,20.107%)
50+300

c'=1,26.107 Sm™




